WERINIXZTL v~ Powdermetal TAFLET

TP-TEX/TP-TER

#E : HSSP REWIE : TICN

Tap material : Surface treatment :
High-speed Steel Titanium Carbonitride

FEDYILY b IU=X

B DSRAXRL

TP-TFX (M2) TP-TFR (M6)

H TP-TFXII5>—% Processing Data

ERYYT g

Ta TP-TFX I M1.7X0.35 RF LB DM

= M1.7X0.35 P4 Durability of M1.7X0,35 on Stainless steel.

B, TP-TFX 4.3301T *RFNT
ing speed

_ #1.53mm EDR T-TF-SUS 3.8708T *AXIF
Hale size 1.53mm, thraugh hole 3,870 holes
BURLE | .2mm
foreedicngth, . ftoht . 3,000MT &

3,000 holes

Coalant Competiter TiN

(EFAE | brother BTA-561 1,000 2,000 3.000 4,000 5,000

Machine

=N MBx1 S50CHOMAH
B1 MEX1 B7 ' Durability of M6X1 on S50C.

Tap size
Hl =%4 .
frabE | S50C BEEE TP TRR e SOORIT #GPT OUT

N 1 = 6.800 holes
_E!?J&E}eea 20m/min 1060rpm.
¢5.55mm @R 432000 *GPI OUT
5.55mm. through hole 4,320 holes
18mm (3D)
1,8000T %GPO OUT
1.900 holes

. Water soluble oil
. Wat

Goot
[EAIRE | FUNUGC DRILLMATE

Iaching

HvT - A AEFIAX—H— Tn n ‘I http://www.tanoi-mfg.co.jp




1E :HSSP  REWIE : TiICN

Surface treatment : Titanium Carbonitride

BMRINACAITILY

Powdermetal TAFLET Tap material : High-speed Steel

TP-TEX

TYPE 1

o #Don @

=&
e | 2k | '
En_
L !

MBI TORIY (8c) BIdsE b AV Y 5 —ZRELTHDH XTI,

@X—K~IURUH &4 (Unit) :mm
3243 Bfd e R E R s+ *& (mm) Dimensions SYPNE| mEs | B
Nominal size ec Limit Type L 2 Ds en Dn K 2k Radial | Oil groove | Remark
M1 X0.25 1C-B-P |[4-5-8 1 30 5 3 8 16 | 25 5 4 - -
M1.2 X0.25 1IC-B-P | [4-5-6 1 32 5 3 9 1.8 2.5 5 4 - -
M1.4 X0.3 1C-B-P | [4-5-86 1 34 7 3 11 2 2.5 5 4 - =
M1.6 X0.35 1C-B-P |(4)-5-86 1 36 8 3 13 23 25 5 4 =
M1.7 X0.35 1C-B-P | [4-5 86 1 36 8 3 13 2.3 2.5 5 4 - s
M2 Xx0.4 1C-B-P | [4-5-8 1 40 9 3 15 2.6 25 5 4 = E
M2.3 X0.4 1C-B-P |[4)-5-86 1 42 9 3 15 2.9 2.5 5 4 = =
M2.6 X0.45 1C-B-P | [4-5-86 1 44 10 3 16 29 2.5 5 4 =
M2.6 X0.45 1C-B-P |(4-5-86 1 44 10 3 16 2.9 2.5 5 4 - -
MERINAAYTILU YN H#ME:HSSP  REWLE : TICN
- Powdermetal TAFLET Tap material : High-speed Steel Surface treatment : Titanium Carbonitride
TYPE 2 TYPE 3
e ?0n ?Ds Ok g ®0n ?Ds Lk
aa—s¢ 8o
g [ =) WNig
) &‘ ' e 2k |
2n En J
. L ! & .
XMBLUTDRT (2c)BIdsEE MU VY —ZERELTHDET,
P e SV A109::] 845 (Unit) - mm
1234 Bt BE R # % = # (mm) Dimensions SYPLE| mEy | EE
Nominal size ec Limit Type L [ Ds en Dn K 2k Radial | Oit groove | Remark
M3 X0.5 B-P B-6-7 2 46 10 4 18 2.3 3.2 6 4 2 =
M4 Xx0.7 B-P (6)-7-8 2 52 10 5 20 3 4 7 4 2 =
M5 X0.8 B-P 6)-7-8 2 60 10 5.5 22 3.8 4.5 7 4 2
M6 X1 B-P 7)-8-9 2 62 10 6 24 4.6 4.5 7 4 2 =
MB X1.25 B-P (7)-8-9 3 70 18 6.2 30 6 5 8 6 3 -
M8 X1 B-P (7)-8-9 3 70 18 6.2 30 6 5 8 6 3 =
M10 X1.5 B-P (7)-8-9 3 75 18 7 32 6.8 5.5 8 8 4 :
M10 Xx1.25 B-P (z-8-9 3 75 18 7 32 6.8 5.5 8 8 4
M10 X1 B-P (7)-8-9 3 75 18 7 32 6.8 55 8 8 4 -
M12 X1.75 B-P 3 82 23 8.5 38 8.3 6.5 9 8 4
M12 X1.5 B-P 3 82 23 85 38 8.3 8.5 9 8 4
M12 x1.25 B-P 3 82 23 85 38 8.3 6.5 9 8 4
M12 X1 B-P 9] 3 82 23 8.5 38 8.3 6.5 9 8 4

T kA W it B EP S L AE R

OFx i
CE5s
¢
£ 31

BETIU?
RETU?
PBWIVF
O8%58 BAIVY
DEx8 BRIVY
CHASHIPES /T

T140-0014
T349-0226
T989-0537
T460-0013
T577-0058
T733-0005
T989-0537

RREBEIKKHLTBE21E188
HESOMMHMHRISI
SHRIBBL 7 BIFREB158B1S
BHRBSENPX LR TB&ES
ARAEARARANITEIE21S
LeRLCEhER=E#1115205
SENBBE s BEIFHEFISE1S

TEL:03-5471-7551
TEL :0480-92-7011
TEL :0224-37-2075
TEL :052-322-4001
TEL:06-7670-0022
TEL :082-230-5340
TEL:0224-37-2211

FAX:03-5471-7550
FAX:0480-92-4441
FAX:0224-37-2213
FAX:052-322-4003
FAX:06-7670-0023
FAX:082-230-6120
FAX:0224-37-2213




